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Subtract Decimals  

1.  5 – 1 =   23.  7.985 – 0.002 =  

2.  5.9 – 1 =   24.  7.985 – 0.004 =  

3.  5.93 – 1 =   25.  2.7 – 0.1 =  

4.  5.932 – 1 =   26.  2.785 – 0.1 =  

5.  5.932 – 2 =   27.  2.785 – 0.5 =  

6.  5.932 – 4 =   28.  4.913 – 0.4 =  

7.  0.5 – 0.1 =   29.  3.58 – 0.01 =  

8.  0.53 – 0.1 =   30.  3.586 – 0.01 =  

9.  0.539 – 0.1 =   31.  3.586 – 0.05 =  

10.  8.539 – 0.1 =   32.  7.982 – 0.04 =  

11.  8.539 – 0.2 =   33.  6.126 – 0.001 =  

12.  8.539 – 0.4 =   34.  6.126 – 0.004 =  

13.  0.05 – 0.01 =   35.  9.348 – 0.006 =  

14.  0.057 – 0.01 =   36.  8.347 – 0.3 =  

15.  1.057 – 0.01 =   37.  9.157 – 0.05 =  

16.  1.857 – 0.01 =   38.  6.879 – 0.009 =  

17.  1.857 – 0.02 =   39.  6.548 – 2 =  

18.  1.857 – 0.04 =   40.  6.548 – 0.2 =  

19.  0.005 – 0.001 =   41.  6.548 – 0.02 =  

20.  7.005 – 0.001 =   42.  6.548 – 0.002 =  

21.  7.905 – 0.001 =   43.  6.196 – 0.06 =  

22.  7.985 – 0.001 =   44.  9.517 – 0.004 =  

A Number Correct:  _______ 

 

Lesson 13: Divide decimals by single-digit whole numbers involving easily 
identifiable multiples using place value understanding and relate  
to a written method. 
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Subtract Decimals  

1.  6 – 1 =   23.  7.986 – 0.002 =  

2.  6.9 – 1 =   24.  7.986 – 0.004 =  

3.  6.93 – 1 =   25.  3.7 – 0.1 =  

4.  6.932 – 1 =   26.  3.785 – 0.1 =  

5.  6.932 – 2 =   27.  3.785 – 0.5 =  

6.  6.932 – 4 =   28.  5.924 – 0.4 =  

7.  0.6 – 0.1 =   29.  4.58 – 0.01 =  

8.  0.63 – 0.1 =   30.  4.586 – 0.01 =  

9.  0.639 – 0.1 =   31.  4.586 – 0.05 =  

10.  8.639 – 0.1 =   32.  6.183 – 0.04 =  

11.  8.639 – 0.2 =   33.  7.127 – 0.001 =  

12.  8.639 – 0.4 =   34.  7.127 – 0.004 =  

13.  0.06 – 0.01 =   35.  1.459 – 0.006 =  

14.  0.067 – 0.01 =   36.  8.457 – 0.4 =  

15.  1.067 – 0.01 =   37.  1.267 – 0.06 =  

16.  1.867 – 0.01 =   38.  7.981 – 0.001 =  

17.  1.867 – 0.02 =   39.  7.548 – 2 =  

18.  1.867 – 0.04 =   40.  7.548 – 0.2 =  

19.  0.006 – 0.001 =   41.  7.548 – 0.02 =  

20.  7.006 – 0.001 =   42.  7.548 – 0.002 =  

21.  7.906 – 0.001 =   43.  7.197 – 0.06 =  

22.  7.986 – 0.001 =   44.  1.627 – 0.004 =  

B 

 
 

 

Number Correct:  _______ 

Improvement:  _______ 

 

Lesson 13: Divide decimals by single-digit whole numbers involving easily 
identifiable multiples using place value understanding and relate  
to a written method. 
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